ttors

HIGH SPEED HYDRAULIC PRESS

3)

B
HONEYTECH
Controls (I) Pvt. Ltd.

Incorporating
Indigenously Developed

New Design

Faster Action

- Energy Efficient
Flexibilit
v Oil Temperature




'C' FRAME PRESS TECHNICAL DATA

WITH GUICZD MCYING LATEN

i 7

b
| | |
ﬁ A —\ QUTPUTFORCE i i
| |
i iy
1S
1 I AL | J‘.
Il I
=] ) E i — e
_ i i
- AT s ) e
"y Y ——lT | \../\A D2"| Z:u;:?
2 | o e
& - ! g
B Tl Ly il L] 8ece
= = [ L ]
=G Fl o S s i
Ky |
J 1] |
v v
A e ]
E | | a ?g;;glﬁﬁ"i’mc
_I_ [l (ol ] .-J Iil I:II‘ L
SIDE VIEW f— Y -
POWER PACK e
.I PP 1] 7 ’1 i = K |.._ FRONT VIEW
" T
el DETAIL "D2" N (2NOS.)
T.10T SLOT T2 TSLOT SCREWS FOR LOCKING

WITHARG | WITHGMP |TON| A | B |C | D | E |F | G| H |J
RA-03-HCAF | RA-03-HCGF | 3 |550 1450 125|250|350 |260 (250|250 (38
RA-05-HCAF | RA-05-HCGF | 5 |60C 1670 150|300 |400 |285|280|280 (43
RA-10-HCAF | RA-10-HCGF | 10 | 650 |1960|175|300 500 |360|350|350 |53
RA-15-HCAF | RA-15-HCGF | 15 | 700 |1970|200 | 350 | 550 | 400|380 | 380 | 62
RA-20-HCAF | RA-20-HCGF | 20 | 700 |1970| 200 | 350 | 550 | 400|380 | 380 | 62
RA-30-HCAF | RA-30-HCGF | 30 | 800 |1980| 200 |350 |600 |440|380|380 72
RA-50-HCAF | RA-50-HCGF | 50 (1100|2250 200 (400|750 |475|400|400 80

25(38|10|10|M6| 60|18 (45| 10| 75 |880|355|275|200| 450|450
30(43|10|12|M8|75[18|55|10|100|945|355|340|200| 500|500
40(53|10|12|M8(105(20| 75|12 (100|950 (400|420|230(550|550
60|62|10(12|M8|130|25| 90| 12|125|950|400(450| 250| 600|600
60|62|10[12|M8|130|25|90|12|125|950|400(450|250| 600|600
80| 72|12 [15M10130|25|90| 12|125|950|400(500|250| 650|650
80|72|12|20M12130, 30|90 | 16|150|960|400(525|250| 750|750

HEEEEIEIEE




4 PILLAR PRESS

TECHNICAL DATA

s MOVING PLATEN
ANTI ROTATION GUIDE
A DIAGONAL T SLOTS ON A
MOVING & BASE PLATES
|
ot
| L.
B P Hog
e =L S S TR :
Lod 0B | BFnn, u
@9—@_—j =
i =T
TOP VIEW

}
L
b

- —& & | fh
Tl T 1
ot | ‘ oo PRESSURE GAUGE ‘ i
I i [ |
" ! |
ANTI ROTATION | ‘i‘w P /Jg PRESS CYLINDER | L
sec 7| | i T | T
1 // 8 2
[ T-12, TSLOT T2 T-SLOT T
| £ | .
JI====_Sh i
! Y | “\__ L1 &
‘ \_/\.m. ‘ -
o : © |
D c
| : | .
sis] B0
! 1 * 1 ‘ ;
H [ | o bt | 3 [ | LTf‘fTJ" I }
I | T |
50} 2a
= &
FRONT VIEW FRONT VIEW
PCWER PACK
WITH ARG WITH GMP [TON A B Cc D ([H|@K|L|LI|M|[N|QGO|P|@GQ[T|U|Z1|Z2
RA-03-H4PA RA-03-H4PG | 3 350|300 250|270 (32(20|25(32|10|M6|60|18(45|10|75|450|450
RA-05-H4PA RA-05-H4PG | 5 400|300 300|300 (38(25/30(38(10(M8|75|18|55|10|75|500/500
RA-10-H4PA RA-10-H4PG | 10 500 | 350 350 | 350 |53(25|40(53|10|M8[10520(75|12|75|550|550
RA-15-H4PA RA-15-H4PG | 15 510|350 350|350 |58(25|50(58|10|M8[130/25(90|16|80|600|600
RA-20-H4PA RA-20-H4PG | 20 510|350 350|350 |62|25)|60(62|10 | M8[130/25(90|16|80|600|600
RA-30-H4PA RA-30-H4PG | 30 590 | 400 400 |400|72|30)|80|72|10M10/13025|90(16|90|650/650
RA-50-H4PA RA-50-H4PG | 50 830 | 600 600 | 450 (1004080 (10012 N12130 30|90|16(100 750|700




Technical Data
A

J(BSP) |
b % i ™
boE

!
1

} F
FRONT VIEW SIDE VIEW
MODEL NO. |TON STTORB’?('-EPUMP HP [w.Pr. AEE%FEE[ ggggg i‘gﬁ% alslclole|Flal|l v @] o |k M N|lP|lal|R]|Ss
MWSEC IMM/SEC (SQ.fsQ.
HS-03-50 3 50 6 15|85 220 28 385 [350|40|32| 90 |110]|320| 65 [M24X2| 65 | 3/8'BSP | 35| M12X1.75 | 100 | 75 65 | 127 | 103
HS-03-75 3 75 6 1.5| 85 220 28 385 [400(40|32| 90 [110]|320| 65 |M24X2| 65 | 3/8'BSP 35| M12X1.75 [ 100 | 75 65 | 127 | 103
HS-03-100 3 100 6 1.5| 85 220 28 385 [450(40|32| 90 (110]|320| 65 |M24X2| 65 | 3/8'BSP 35| M12X1.75 [ 100 | 75 65 | 127 | 103
HS-03-150 | 3 | 150 | 6 |15|85| 220 | 28 | 385 |550|40|32| 90 |110[420| 65 |M24X2| 65 | 3/8'BSP | 35| M12X1.75 | 100 | 75 | 65 | 127 | 108
HS-03-200 | 3 | 200 | 6 |15|85| 220 | 28 | 385 |650|40|32| 90 |110[420| 65 |M24X2| 65 | 3/8'BSP |35| M12X1.75 | 100 | 75 | 65 | 127 | 108
HS-05-50 | 5 | 50 | 8 | 2 |95 290 | 24 | 430 |380|40|32|110|125|330[84.5|M24X2| 65 | 1/2'BSP |35| M16X2 | 100 | 75 | 65 | 127 | 108
HS-0575 | 5 | 75 | 8 | 2 | 95| 200 | 24 | 430 |430|40|32|110|125|330[84.5|M24x2| 65 | 1/2'BSP 35| Mi6x2 | 100 | 75 | 65 | 127 | 108
HS-05100 | 5 | 100 | 8 | 2 | 95| 290 | 24 | 430 |480|40|32|110|125|330[84.5|M24X2| 65 | 1/2'BSP 35| M16X2 | 100 | 75 | 65 | 127 | 108
HS-05-150 | 5 | 150 | 8 | 2 | 95| 290 | 24 | 430 |580|40|32|110|125|430[84.5|M24X2| 65 | 1/2'BSP 35| M1i6x2 | 100 | 75 | 65 | 127 | 108
HS-05-200 | 5 | 200 | 8 | 2 | 95| 290 | 24 | 430 |680|40|32|110|125|430[84.5|M24X2| 65 | 1/2'BSP |35| M1i6X2 | 100 | 75 | 65 | 127 | 108
HS-1050 | 10 | 50 | 10 | 8 |120] 200 | 19 | 990 |430|52|38|135|165|340|105 |[M36X2|100] 1/2'BSP |50 M20X25 | 100 | 75 | 65 | 127 | 108
HS-10-75 | 10 | 75 | 10 | 8 |120] 200 | 19 | 990 |480|52|38|135|165|340|105 |M36X2|100| 1/2'BSP |50| M20X25 | 100 | 75 | 65 | 127 | 108
HS-10-100 | 10 | 100 | 10 | 3 |120] 200 | 19 | 990 |530|52|38|135|165|340|105 [M36X2|100| 1/2'BSP |50 M20X25 | 100 | 75 | 65 | 127 | 108
HS-10-150 | 10 | 150 | 10 | 3 |120] 200 | 19 | 990 |630|52|38|135|165|440|105 [M36X2|100] 1/2'BSP |50 M20X25 | 100 | 75 | 65 | 127 | 108
HS-10200 | 10 | 200 | 10 | 3 |120] 200 | 19 | 990 |730|52|38|135|165|440|105 [M36X2|100] 1/2'BSP |50| M20X25 | 100 | 75 | 65 | 127 | 108
HS-1550 | 15 | 50 | 18 | 5 |115] 260 | 22 | 1310 |490|75|50|165|190|350| 126 |M40X2|110| 3/4'BSP |50| M24X3 | 100 | 75 | 65 | 127 | 108
HS-1575 | 15| 75 | 18 | 5 |115] 260 | 22 | 1310 |540|75|50|165|190|350| 126 [M40X2|110| 3/4'BSP |50 M24X3 | 100 | 75 | 65 | 127 | 108
HS-15-100 | 15 | 100 | 18 | 5 |115] 260 | 22 | 1310 |590|75|50|165|190|350| 126 [M40X2|110| 3/4'BSP |50| M24X3 | 100 | 75 | 65 | 127 | 108
HS-15-150 | 15 | 150 | 18 | 5 |115] 260 | 22 | 1310 [690|75|50|165|190|450| 126 [M40X2|110| 3/4'BSP |50 M24X3 | 100 | 75 | 65 | 127 | 108
HS-15-200 | 156 | 200 | 18 | 5 |115] 260 | 22 | 1310 |790|75|50|165|190|450| 126 [M40X2|110| 3/4'BSP |50| M24X3 | 100 | 75 | 65 | 127 | 108
HS-20-50 | 20 | 50 | 20 | 5 |105] 150 | 17 | 2300 |520|75|60]190|190|450| 150 |M4BX3|125] 3/4'BSP 50| M24X3 | 120 ] 90 | 75 | 167 | 113
HS-20-75 | 20 | 75 | 20 | 5 |105] 150 | 17 | 2300 |570|75|60|190|190|450| 150 |M4BX3|125| 3/4'BSP |50| M24X3 | 120 | 90 | 75 | 167 | 118
HS-20-100 | 20 | 100 | 20 | 5 |105] 150 | 17 | 2300 [620|75|60|190|190|450| 150 [M4BX3|125| 3/4'BSP |50| M24X3 | 120 | 90 | 75 | 157 | 113
HS-20-150 | 20 | 150 | 20 | 5 |105] 150 | 17 | 2300 |720|75|60|190|190|450| 150 |M4BX3|125| 3/4'BSP |50| M24X3 | 120 | 90 | 75 | 157 | 118
HS-20-200 | 20 | 200 | 20 | 5 |105] 150 | 17 | 2300 |820|75|60]190|190|450| 150 |M4BX3|125] 3/4'BSP |50| M24X3 | 120 ] 90 | 75 | 167 | 118
HS-30-50 | 30 | 50 | 23 |7.5]135] 175 | 17 | 3065 |520|75|60|190|210|450| 156 |M48X3|125| 3/4'BSP 50| M30X35 | 120 | 90 | 75 | 167 | 113
HS30-75 | 80 | 75 | 23 |7.5|135] 175 | 17 | 3065 |570|75|60|190|210|450| 156 |M4BX3|125| 3/4'BSP |50| M30X35 | 120 | 90 | 75 | 157 | 113
HS-30-100 | 80 | 100 | 23 |7.5|135] 175 | 17 | 3065 [620|75|60|190|210|450| 156 |M4BX3|125| 3/4'BSP |50| M30X35 | 120 | 90 | 75 | 157 | 118
HS-30-150 | 30 | 150 | 23 |7.5]135] 175 | 17 | 3065 |720|75|60|190|210|450| 156 |M4BX3|125| 3/4'BSP 50| M30X35 |120] 90 | 75 | 167 | 113
HS-30-200 | 30 | 200 | 23 |7.5]135] 175 | 17 | 3065 |820|75|60|190|210|450| 156 |M4BX3|125| 3/4'BSP 50| M30X35 | 120 | 90 | 75 | 167 | 113
HS-50-50 |50 | 50 | 31 |7.5|100] 180 | 10 | 2830 |475|85|80|325|325[500(247 [M56X3[150| 1"BSP |60| M42X45 | 120 | 90 | 75 | 157 | 118
HS-50-75 | 50 | 75 | 31 |7.5|100] 180 | 10 | 2830 |525|85|80|325[325[500(247 [M56X3[150] 1"BSP |60| M42x45 | 120 | 90 | 75 | 157 | 118
HS-50-100 | 50 | 100 | 31 |7.5]100] 180 | 10 | 2830 |575|85|80|325|325|500|247 |M56X3|150] 1"BSP |60| M42X45 |120] 90 | 75 | 167 | 113
HS-50-150 | 50 | 150 | 31 |7.5]100] 180 | 10 | 2830 |775|85|80|325|325|500|247 [M56X3|150] 1"BSP |60| M42X45 |120] 90 | 75 | 167 | 113
HS-50-200 | 50 | 200 | 31 |7.5|100] 180 | 10 | 2830 |875|85|80|325[325[500(247 [M56X3[150] 1"BSP |60| M42x45 | 120 | 90 | 75 | 157 | 113

Salient Features

* Faster Action Faster than Conventional Hydraulic/Pneumatic/Hydro-Pneumatic Presses

 Energy Efficient Energy Efficient over equivalent Hydraulic/Pneumatic/ Hydro-Pneumatic Presses.

* Flexibility : Maximum Job Pressing Stroke available is upto Total stroke.

* Low Oil Temperature Powerpack oil temperature is low compare to conventional Hydraulic Presses.




	Page 1
	Page 2
	Page 3
	Page 4

